
REPLACEMENT PARTS LIST AND
PARTS ILLUSTRATIONS
VERTICAL MOUNTING OF MODELS

SFV-35Q • SFV-42Q
SFV-35FQ • SFV-42FQ

Only factory authorized parts are to be used.
Do not attempt to repair defective parts.

When ordering repair parts from your dealer or a distributor, always give the following information:
1.  Part Number (Not Item No.)
2.  Part Description
3.  Model No. and Serial No. of your Furnace
4.  Number of Parts Required

AIRXCEL, INC. - SUBURBAN DIVISION
676 Broadway Street 

Dayton, Tennessee   37321
423-775-2131

www.AIRXCEL.com

Part Number 205877XP
12-18-2019

LISTE DES PIÈCES DE RECHANGE ET 
ILLUSTRATIONS DES PIÈCES 

MONTAGE VERTICAL DE MODÈLES
SFV-35Q • SFV-42Q

SFV-35FQ • SFV-42FQ

Seules les pièces d’usine autorisés doivent être utilisés. 
Ne pas tenter de réparer les pièces défectueuses.

Lors de la commande de pièces de rechange auprès de votre revendeur ou un distributeur, toujours donner les 
informations suivantes:

1.	 Numéro de pièce (Non Point N°) 
2.	 Description de la pièce 
3.	 Numéro de modèle et de série de votre Chauffe 
4.	 Nombre de pièces nécessaires



11

9

12

23

15

15

19
15

27A

26

29A

27

OR

REAR GAS

FRONT GAS

CANALISATION DE
GAZ-ARRIERE

CANALISATION DE
GAZ-AVANT

22

15

31

32

48

56

59

58
54

5042

44

52
36 41

40

38

45

43

39

33

21
50

80
70

32°C

50
10

60 21

S
Suburban

Manufacturing Company

90

10

OFF
80

60 70
90
32°C

6

7

2

1

55B

5C

3A

1A

3



ITEM 
NO. DESCRIPTION PART 

NUMBER

1 Cabinet Front (SFV-35/42Q, 35/42FQ) 101242

2 Thermostat 161154

3 Gasket, Bottom Duct 071195

3A Plate, Discharge Cover SFV-35/42Q, 35/42FQ ONLY 
(Accessory) 063581

5
Cabinet Assembly SFV-35Q, 35FQ 102437

Cabinet Assembly SFV-42Q, 42FQ 102439

5B Bracket, Cabinet Mounting (2 Required) 063516

5C Bracket, Rear Vertical Mounting 063514

6 Cover, Duct 050733

7 Collar, Duct 050715

9 Manifold Assembly Complete 171743

11
Orifice, Main Burner SFV-35Q, 35FQ 180308

Orifice, Main Burner SFV-42Q, 42FQ 180309

12 Gasket, Burner Access Door 071263

15 Screw 8-18 x ½ Stainless 121651

19
Plate, Secondary Air (Bottom) SFV-35FQ 062938

Plate, Secondary Air (Bottom) 
(for SFV-42Q and SFV-42FQ only) 062935

22 Electrode 233497

23
Burner Assembly Complete SFV-35Q, 35FQ 010865

Burner Assembly Complete SFV-42Q, 42FQ 010799

26 Valve 161122

27 Pipe Assembly, Gas Inlet (Rear Gas Models Only) 171574

27A Pipe Assembly, Gas Inlet (Front Gas Models Only) 171576

29A Gas Fitting 90° Elbow (Front Gas Models Only) 170374

31 Vent Cap and Exhaust Tube Assembly 260231

32
Tube Assembly Intake (Vent) (Rear Gas Models Only) 051248

Tube Assembly Intake (Vent) (Front Gas Models Only) 051249

33 Rain Shield 280582

36 Screw #6-19 x 1/2 (2 Required SFV-35/42Q, 35/42FQ) 122001

38
Wheel, Combustion Air SFV-35Q, 35FQ 521235

Wheel, Combustion Air, Steel SFV-42Q, 42FQ 521236

39 Gasket, Firewall (Combustion Air) 072087

40
Motor Assembly with Gasket SFV-35Q, 35FQ 521231

Motor Assembly with Gasket SFV-42Q, 42FQ 521232

41 Screw #4-20 x 5/8 (2 Required) 121971

42
Blower Housing, Front Half SFV-35Q, 35FQ 521237

Blower Housing, Front Half SFV-42Q, 42FQ 521238

ITEM 
NO. DESCRIPTION PART 

NUMBER

43 Screw #8-18 x ½  (5 Required) 121857

44 Blower Housing Rear Half (SFV-35/42Q, 35/42FQ) 521253

45 Switch, Sail 232261

48 Switch ON/OFF 232351

50 Module Board 521099

52 Blower Wheel (Room Air) SFV-35/42Q, 35/42FQ 521233

54 Bushing, Universal 070362

56 Bushing, Strain Relief 071206

58

(Boxed) Chamber/Firewall  Assy (SFV-35FQ) 021366

(Boxed) Chamber/Firewall  Assy (SFV-35Q) 021367

(Boxed) Chamber/Firewall  Assy (SFV-42FQ) 021368

(Boxed) Chamber/Firewall  Assy (SFV-42Q) 021369

59
Switch Limit SFV-35Q, 35FQ 232888

Switch Limit SFV-42Q, 42FQ 232505



N° de 
repérage DESCRIPTION N° de 

pièce

1 Avant de la caisse (SFV-35/42Q, 35/42FQ) 101242

2 Thermostat 161154

3 Joint Pour Conduit Inférieur 071195

3A Plaque de formeture (Logement des bouches de 
décharge, SFV-35/42Q, 35/42FQ Seulement) 063581

5
Cabinet Assemblée SFV-35Q, 35FQ 102437

Cabinet Assemblée SF-42Q, 42FQ 102439

5B Support de montage en armoire (2 requis) 063516

5C Support, montage vertical arrière 063514

6 Couvercle, conduit 050733

7 Bride de fixation, conduit 050715

9 Système de distribution, complete 171743

11
Gicleur à gaz, brûleur principal SFV-35Q, 35FQ 180308

Gicleur à gaz, brûleur principal SFV-42Q, 42FQ 180309

12 Joint, couvercle d’accès au brûleur 071263

15 Vis N° 8-18 x 1/2, inox. 121651

19
Plaque, air secondaire (bas) SFV-42Q, SFV-42FQ 062935

Plaque, air secondaire (bas) SFV-35Q, 35FQ 062938

22 Électrode 232497

23
Brûleur, ensemble complet SFV-35Q, 35FQ 010865

Brûleur, ensemble complet SFV-42Q, 42FQ 010799

26 Valve 161122

27 Tuyau, arrivée du gaz (Q - modèles à gaz arrièrre) 171574 

27A Tuyau, arrivée du gaz (FQ - modèles à gaz avant) 171576

29A Raccord - canalisation de gaz (modèles á gaz arriere) 170374

31 Ensemble - bouches d’admission d’air/décharge 260231

32
Tube d’admission d’air (Modéles à gaz arrière) 051248

Tube d’admission d’air (Modèles à gaz avant) 051249

33 Protection pluie 280582

36 Vis N° 6-19 X 1/2 (12 requis) SFV-35/42Q, 35/42FQ 122001

38
Turbine, air de combustion SFV-35Q, 35FQ 521235

Turbine, air de combustion SFV-42Q, 42FQ 521236

39 Joint, cloison pare - feu (côté ventilateur) 072087

40
Moteur Avec Joint D’e Chantèitè SFV-35Q, 35FQ 521231

Moteur Avec Joint D’e Chantèetè SFV-42Q, 42FQ 521232

41 Vis N° 4-20 X 5/8 (2 requis) 121971

42

Système d’assemblage ventilateur (air ambiant) SFV-
35Q, 35FQ 521237

Système d’assemblage ventilateur (air ambiant) SFV-
42Q, 42FQ 521238

N° de 
repérage DESCRIPTION N° de 

pièce

43 Vis N° 8-18 x 1/2 (4 requis) 121857

44 Encastrement pour ventilateur (air ambiant) Partie 
arrière SFV-35/42Q, 35/42FQ 521253

45 Commutateur éolien 232261

48 Commutateur - marche/arrêt 232351

50 La carte du module 521099

52 Turbine de ventilateur SFV-35/42Q, 35/42FQ 521233

54 Bague universelle 070362

56 Bague, passe - fil 071206

58

(Boxed) Chambre / Assemblée Firewall SFV-35FQ 021366

(Boxed) Chambre / Assemblée Firewall SFV-35Q 021367

(Boxed) Chambre / Assemblée Firewall SFV-42FQ 021368

(Boxed) Chambre / Assemblée Firewall SFV-35Q 021369

59
Fin de course SFV-35Q, 35FQ 232888

Fin de course SFV-42Q, 42FQ 232505



This manual has been provided courtesy of 
My RV Works, Inc. 

www.myrvworks.com 
 

 

 

  

 

 

You can find more RV service manuals here: 
www.myrvworks.com/manuals 

 

 
 

Over the years of running a mobile RV repair service, having a dedicated place 
to access service manuals for all the different appliances and components 
found on RVs was something that I always had a desire to create. 

I hope this resource makes your RV repairs easier, as it has mine, but please 
be careful and follow proper safety practices when attempting to repair 
your own RV.   

If in doubt, please consult with a professional RV technician!  

 

 
All service manuals provided on www.myrvworks.com are believed to be  

released for distribution and/or in the public domain. 

DARREN KOEPP  - OWNER, MY RV WORKS, INC. 

http://www.myrvworks.com/
http://www.myrvworks.com/

